14.1.21 Daily Ten

OO NOULEWNE

[EEY
o

9x8=72

8x3x4=96

What is the most efficient way to answer 35 x4?30x4+5x4 =120+ 20 =140
5200 + 100 =52

638x| 0 |=0

How many sides does a hexagon have? 6

38+ 1]= 38

True or false — there are 4 factor pairs for 16? False: 1 x 16, 2x 8,4 x4

What is the perimeter of a 7cm pentagon? 35cm

. If a bakery makes 500 loaves every day and sells 375 loaves each day; then how many loaves will be unsold at the

end of a week? 500 — 375 = 125 loaves left each day. 125x7=100x7+20x 7 +5x 7 =700 + 140 + 35 =875
loaves unsold at the end of the week.



